11'—4" 18'-8 18'-8 14'-5"
5" " PORTIONS OF HDSB RAIL REMOVED FROM VIEW
1"_6 17 JOINT (typ) FOR CLARITY
(typ)
)] )] H | S 4 t-jj:u :n :n LY ¥ L SR 5 L :a :u | S ¥ :a H 1 )]
W6 x 20 4'—1 1/8"
L 4'—1 1/8 FASCIA MOUNTED /
| ‘ I~ POST (typical) |
1 P | T i i i I o o 1| Lo 4
| | | | [N [ [ [ T [ [ [ [Nl [ [l
i | 1 [Nl [ [ [ o [ [ [ [ I | |]|
w8 x 24 | ‘ : ! ‘ } LY L L L L L L L L b Ll W8 x 24
APPROACH 111 11 [ 111 APPROACH
POSTS ’ | | ’ | 4 ZAN P | ‘ I POSTS
i P Do N
[ [ i I [
[ [ | B Lo
1_g” (8) SPACES @ 6'-3" = 50'—0" g
C 63" 6'-3"
55'-0" CL BEARING TO CL BEARING
62'—6" LIMITS ITEM 900.640 SPECIAL PROVISION (BRIDGE RAILING, GALVANZIED, HDSB FASCIA MOUNTED, STEEL TUBING)
TYPICAL ELEVATION — LOOKING AT FACE OF RAIL FROM CENTERLINE OF ROADWAY
BOTH SIDES TYPICAL
Verme« y of iorn
R EC SHOF DRAWING REVIEW
oy MJC OK'D REVIE RUGTION CONTRACT DOCUMENTS AND APPROVED, BUT
o B ONLY F ONGEPT OF THE WORK. AND SUBJECT TO FURTHER
1 LIMITATIONS AND ED IN THE CONSTRUGTION CONTRACT DOCUMENTS
April 14, 2014 :
P ' 0 REJ ND RESUBMIT ] rumNISH AS CORRECTED
A BILL OF MATERIAL RESuBMIT NO Approved CORR P DRAWINGS DURING THIS REVIEW DO NOT
AEl BV E DRAWINGS AND
Qty mk Description Spec. BY M.J. Chenette 04/24/2014 oo CE WITH THE
18 W86x20 FASCIA MOUNTED POST 3-1.000" OAL (GLV) A572 gr 50 DESIGH _ RMATION GIVEN
) W8x24 TRANSITION POST x 6 FT LONG (GLV) A572 gr 50 IN THE CONTRACG e i-,«-J,-:ql - :A'f;Ljr
CORRBEL ATING A ; ON PROCESSES AND
52 TUBE BLOCK HSS 8 x 4 x 3/16_x 6.000" LG (GLV) A500 gr B IF{'}r{:-E,r-E.ItyJr'HI:Ji\{ 4T OF ALL OTHER TRADES:
10 HDSB W-BEAM PANEL 10 GA 126" LG X 63" SP (GALV) M180 B2 AND PERFORMIN Bk SATISFACTORY MANNER
6 SPLICE CHANNEL C7 X 12.25 x 2-7.000" w/ (4) TACKWELDED HEX NUTS (GALV) A572 gr 50 :
Vanasse Hangen Brustlin, Inc. | . y.oo. §T431.00
2 G1 TUBULAR STEEL RAIL (GLV) HSS 8 x 4 x 3/16 x 11-4.000" OAL AS500 gr B 7056 US Route 7 naviewod By: £ A_FLALR
4 G2 TUBULAR STEEL RAIL (GLV) HSS 8 x 4 x 3/16 x 18-8.000" OAL AS500 gr B North Ferrisburgh, VT 05473 e -3 T
2 G3 TUBULAR STEEL RAIL (GLV) HSS 8 x 4 x 3/16 x 14-5.000" OAL A500 gr B B 5.7788 Date _[H_ﬂ_&__. —
26 RECTANGULAR WASHER 0.1875" x 1.75" x 3.00" (GLV) A572 GR 50
36 U-SHAPED ANCHOR STUD 1" DIA 10" x 12" A449
72 PLATE WASHER 0.25" x 2" x 5" w/ 1.25" DIA CENTER HOLE A572 GR 50 HIGHWAY SAFETY CORP
144 HEX NUT (HI STR) 1" A563 DH GLASTONSURY, CT
72 ROUND WASHER (SAE) 1" F436 860-633-9445
900.640 SPECIAL PROVISION (BR]DGE RAILING
26 HEX HEAD BOLT 5/8" DIA x 13" LG HDG A325 GALVANIZED, HDSB FASCIA MOUNTED/STEEL TUBING) §§CERT‘F|ED
26 HEX HEAD BOLT 5/8" DIA x 10" LG HDG A325 < FABRICATOR|,
76 HEX HEAD BOLT 5/8" DIA x 2" LG HDG A325 TOWN OF GUILFORD, VT — WINDHAM COUNTY
- HSC JOB NO,
104 HEX NUT 5/8" HDG A563 DH — __RT TH10 BRIDGE 65 - BRO 1442(36) 1977
206 ROUND WASHER SMALL FLAT 5/8" HDG F436 g ICC.>§R‘ECTEbD lf/TNSlTION POSTS / GEN NOTES ,é;,sf/géwh B A
niTtiai su — — SUB CONTRACTOR
80 PANEL SPLICE BOLT 5/8" x 1.25" HDG A307 o S T— o T LAFAYETTE 1 of 2
80 DOUBLE RECESS. NUT 5/8" HDG A563 A REVISIONS w o gy [P 03_03-14 " o | D



efiala
Image

mchenette
StructuresShopDrawing


y TS 8 x 4 x 3/16 x 6" LG. TUBE BLOCKOUTS
(TYPICAL TOP & BOTTOM AT EACH POST)
1 : TS 8 x 4 x 3/16 TUBING
13" (7vP) b, 8" /% -
X ) . / SEE DETAIL "C” FOR BOLT SIZES & LOCATIONS
[a]
| t .
I » !
ST b 3/47e HOLE (TYF) SPECIAL WASHER THIS SIDE
“| |gt gl (8) LOCATIONS o |
Y BRIDGE RAILING HEAVY DUTY STEEL BEAM
-—to ) ©
w6 x 20 / I
. BRIDGE RAIL POST g
o (A572 GR 50) - ﬂ
- PLATE WASHER - - ‘ .
) THIS SIDE (TOP) % z ¢
__.$ (& *I \ ™~
N —
° \1 1/8" x 2" SLOTIED ° El}‘ : T
e X = a4 & i of - REFERENCE SURFACE
HOLE IN POST (TYP) b ST (TOP OF CONCRETE OR
ko) ‘? GP T S o , TOP OF PAVEMENT, IF PAVED)
3n
12
6
5o
32 \
8" PAET g 1"g U—SHAPED ANCHOR RODS (A448) (2) PER POST,
EACH WITH (4) HEX NUTS (A563 DH)
SECTION A—-A A (2) PLATE WASHER (A572 GR 50) & (2) PLAIN WASHER (F436)
e

PLATE - WASHER
THIS SIDE (BOTTOM)

FASCIA_ MOUNTED POST WITH CURB
W6x20 (A572 GR 50)

3/16" THICK

1.25

(A572 GR 50)

=7 M

E (AS00 GR B) S,
11/16" x 1

]
" SLOTTED HOLE

SPECIAL WASHER

Ni—

5/8"8 x 2" HEX BOLT (A325) WITH
/ (1) FLAT WASHER (F436)
=i TS 8 x 4 x 3/16 TUBING
e /
1
3

!

(TP)

(TvP)

(A572

DETAIL PLATE WASHER DETAIL

PARTIAL SECTION B-B
SHOWING TUBE & SPLICE ONLY

(CENTERED ON PLATE)

——1/4" THICK PLATE

. T - 137 (1ve)
|
‘ |
. o}o| ~3/4% HOLE (TYP)
i loigl (6) LOCATIONS
Y
e i ©
—— W 8 x 24
(A572 GR 50)
°
|
©
1w
5

TRANSITION POST
W8x24 (A572 GR 50)

Vermont Agency of Transportation

RECEIVED

Guilford Bridge Rail-APPROVED, paf

CK'D BY MJC OK'D BY TAS
April 14, 2014

Approved
DATE 04/24/2014

"¢ HOLE

GR 50)

RESUBMIT NO
BY M. J. Chenette

NOTES

1. ALL WORK AND

2. PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL
EDGES TO A MINIMUM 1/18" RADIUS

3. ALL POSTS SHALL BE SET NORMAL TO GRADE

4. SPLICES FOR THE STEEL BEAM GUARDRAIL SHALL LAP IN THE
DIRECTION OF TRAFFIC

5. A RAILING JOIN
SPANNING THE EN

ALL SUPERSTRUCTURE EXPANSION JOINTS

DELINEATORS. A D
SPACING OR THE

THE DRIVERS RIGHT. FOR THIS ONE WAY BRIDGE, YELLOW IS TO

BE INSTALLED ON

7. FOR RADII LESS THAN 950 FEET, HSS 8 X 4 TUBES SHALL
BE SHOP BENT TO FIT THE APPLICABLE CURVE

8. HOLES IN THE

DRILLED. FIELD DRILLED HOLES SHALL BE COATED WITH IN
APPROVED ZINC RICH PAINT PRIOR TO INSTALLATION

9. SEE STANDARD

CONCERNING GUARDRAIL.

"(TYP)

B

TS 8 x 4 x 3/16
(A500 GR B)

6. SEE VAOT STANDARD DRAWING G—1

MATERIALS SHALL CONFORM TO SECTION 525

T SPLICE SHALL BE PROVIDED IN ANY RAIL BAY
D OF AN INTEGRAL ABUTMENT BRIDGE AND AT

FOR DETAILS OF
ELINEATOR SHALL BE INSTALLED AT 30 FT
NEAREST POST. WHITE IS TO BE INSTALLED ON

THE DRIVERS LEFT

RAIL FOR TUBE ATTACHEMENT MAY BE FIELD

G—1 AND G-1d FOR ADDITIONAL DETAILS

5/8"8 x 13" HEX BOLT (A325) WITH
(2) FLAT WASHERS (F436) &

(1) HEX NUT (A563 DH).

3/4"9 HOLES IN TUBING

)

5/8"8 x 2" HEX BOLT (A325) WITH
(2) FLAT WASHERS (F436) &

(1) HEX NUT (A563 DH).

3/4"9 HOLES IN TUBING

Y

DETAIL
STEEL BEAM GUARD

5/8°¢ x 10" HEX BOLT (A325) WITH

(1) FLAT WASHER (F436),

(1) SPECIAL WASHER (A572 GR 50) &

(1) HEX NUT (A563 DH).

3/4" HOLE IN POST

3/4" x 1 1/4” SLOTTED HOLES IN TUBING

:;Css
RAIL NOT SHOWN

PAY_LIMITS FOR SPECIAL PROVISON ITEM 900.640 (BRIDGE RAILING, B BOLTS IN SLOTTED HOLES SHALL NOT
GALVANIZED HDSB/FASCIA MOUNTED/ STEEL TUBING) BE SO TIGHT AS TO PREVENT SLIDING
BETWEEN THE TUBING AND THE SPLICE CHANNEL
6'-3" 6'-3" (IYP)
1" OPEN JOINT IN TUBING 27
o . OR AS REQUIRED FOR EXPANSION 1-6"
(min) TS 8 x 4 x 3/16 x 8" LG . o . o 3
(TYPICAL AT BRIDGE POSTS S
S NP SHOF DRAWING REVIEW
E3 ® 3 K T z 1 7_776 77A@ >>>>> ;___-_
i e _ ; X
: * \ : / / \ : Eﬂ REVIEWED AS REQUIRED BY THE CONSTRUGTION CONTRACT DOCUMENTS AND APPROVED, BUT
2 = 2 QKLY FOR CONFORMANCE TO THE DE CONGEPT OF THE WORK, AND SUBJECT TO FURTHER 5/4%% HOLE IN CHANNEL
REFERENCE SURFACE g{é%éohé{é; 3/4% noLes™ {417 LIMITATIONS AND REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS TACKWELD 58" HEX NUT (AS63 DH).
N TUBING N TUBING [0 mesecTeD [ REVISE AND RESUBMIT ] FURNISH AS CORRECTED CLEAN THREADS AFTER GALV. (TYP)
END OF BRIDGE SPLICE BAR C7 x 12.25 x 2'=7" LG CORRECTIONS OR COMMENTS E BAR DETAIL
OR END OF =y IEUE OO - r ) EMENTS OF
PARALLEL WINGWALL RELIEVE CONTRACTOR FROM LU R,; hp;!, CONFORMANG
BRIDGE DECK SPECIFICATIONS, T SENERAL CONFORMANG
B OESIGN CONCEPT APLIANCE WITH THE INFO
1 IN THE CONTRACT ESPONSIBLE
a1l il e ik
Aw 8 x 24 8 CONST. OR EXP. JT. | 1'-2" min GORRELATING AL HIG HWAY SAFETY CORP
POSTS TECHNIQUES OF
e ity GLASTONBURY, CT
- P AND PERFORMIN
~ - 860-633-9445
‘ 1'-9” . T yort Brrstli nc. " ) 900.640 SPECIAL PROVISION (BRIDGE RAILING )
lr”i.”s?ﬂ Hangen Brustlin, | Job Number 574&-10‘:) GALVANIZED, HDSB FASCIA MOUNTED/STEEL TUBING) S CERTIFIED
A RAILING ELEVATION VIEW 056 US Route 7 od B ¥ & < FABRICATOR
- ~ Reviewed by _E_.E\,‘_E'n_l_i — —
ort arnsbure /T 05473 _
(SHOWN LOOKING FROM ¢ WITHOUT CURB) esngpbebyrierg ot e O4-A3 014 TOWN OF GUILFORD, VT — WINDHAM COUNTY
B02.425.7788 Date . = RT TH10 BRIDGE 65 — BRO 1442(36) e 405 o
(GENERAL 7 9 77
[sweer wo. |
m LAFAYETTE 2 of 2
I ORAWN. PAR FNECKED 0ATE 03—03—14 [suL: NONE |SIIE D



efiala
Image

mchenette
StructuresShopDrawing




